






































































































































































































































































       1              0              0              0              10                1             9999         370       
       0              1              0              0                0             -1/10           1/10             3       
       0              0              1              0              1/10           1/25          -1/25          14/5     
       0              0              0              1             -1/10           3/50          -3/50           6/5     



































































var y1 >= 0;
var y2 >= 0;

maximize w: 7*y1 + 3*y2;

s.t.  x1:         4*y1 + 3*y2 <= 3;
s.t.  x2:         6*y1 +    y2 <= 3;
s.t.  x3:         3*y1 +    y2 <= 4;

ampl: reset; model Pr6_PracFinal.txt; solve; display y1,y2;
Gurobi 10.0.0: optimal solution; objective 4.285714286
2 simplex iterations
y1 = 0.428571
y2 = 0.428571

ampl: display x1,x2,x3;
x1 = 0.785714
x2 = 0.642857
x3 = 0






